Q. 11to 3 : Direction In tl

1€ tollowine quesiiog

s & SPECINC group of
alternatives. | LAY

i numbers i c i}
ind out the correct alterantive that matches the given sroun
1 I 30D 576G 357
il 3073 (1) 466 3 /0 £
3 . 2
i | F, '.r_l ':“:lﬁl
il _"_\'."'\- (7 72 35005 19 10
% 193 454 265
(1) 5732 (2 871 1Y 14 (43 3657
Q.4 and 5 - Direction Find the odd term
4. (1) DUFW (7Y |"H_L:|.|.4'“'- (3)y JOLQ (4y AWCL
o (1) AEVZ (21 FIOL 3y COTX (4) IMOS

6. ABCDEFGHIIKLMNOPQRSTUVWXYZ

From the above alphabets which word will be formed from the given alterantives if the meaningful
word formed by the 5th and 10th letter from the right and 1st and 5th letter from the left 1s writien
in the reverse order.

(1) VEAS (2) SAEV (3) AVES (4) EVAS

Q. 7 to 9 : Direction Find the odd figure.

S o
; N ]/. 1. :
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Q. 11 to 13 : Direction The adijacent figure 1s

11.

| . | w v W
| \ a] B |I_ | | I H - pIes
o | = Rt ]
| }-
| p ] ]
1 | I %] § L

_.||- (73 (3) (4
In the ' : : : : :

! |-l,_ I'.Illl'l'.,'\.ln'l:_' l|||i_-..|||!|'| |||!.'.r'l,_' 15 1 "\:!.1I.'l._|||n_ relation |'|'-_'|."-"-L'L'|| {11l -||'.‘|.| "'-;._'Li'”-.'n [erin |'||_L % 7l
Felatio neyx . 4 ; : " ,
I'h Ihl”' CXIsts between third and the fourth term. Considerine the same relationship choos:
e correc W i P . =

cl alternative that will replace the question mark.
V1529 72135 : 152043
i1 I 35410 . ! v A = : .
(1) 213549 T (2) 223649 =(3) 224194 ) 215048Y

EII]'L‘ ]'-'”l."l.". |I'|:_1 |_|!1|_;_'-||| 1115

Which symbol will not be adjacent to the symbol *." ?
(1) = (2) (3) ¢ (4
Which symhbol will be opposite to the symbol A ?

(2) . (3) <

1)y <>

Which of the following figure is the figure obtained by folding the

a cube ¥

SPACE FOR ROUGH WORK

tolded 10 form a cube. Observe the fieure and answes
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quesiions. chooee | P
| « CNoose the COrrect m||||.”|.|||..__ that will

Q. 17 to 20 : Direction In each of the followine
Iven seguence,

replace the question mark in the £
I7. 4, 6, 16, 62. 308 7

I.Ii I'-H.-i“ | b e | .
W I e (3] 6YR 3
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210, e
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Q. 21 to
[ 1€
:; W I||

|
22 Wi

23 : Direction Aty
only cricket and foothall. mly three players play football. Tushar plays all

viul play
.!ll khi |-_||.'- COnly oy

Nishant and A

= | e

g2 (3 WML Y3 AR |
i) 99 (4) 100,

1 1 8 = b= 1 ! 3
10l (4] 433G =t 4103

Nishant and Amar are four players. Except Nishant all play

[ 1 i
k| . ! s

ne player does not play kabaddi. Only Nishant does not play

are expert in kho-kho.

and Amar play Eheni
l- e }rll]-.h ll
I il Ll 4 ' 3 i
<ho-Kh . Cricket (4) Football.
[II.H-|I.|I (3] ..""‘hl"-l_'..ll'll [} W ITIAT.

g, 51~ : .
23. Which game is played by only two playvers 7

(1)

Kabaddi (3) Foorball (4) Kho-kho.

Q. 24 and 25 : Direction A rhythmic arrangement of letters is given, The missing letters appear in
the same order in one of the alternative answer. Choose the correct alternative.

24. ab-bc-=fc-ba-c

(1)

25

(1)

aabb

=N =D ~ab

abb -baa

abani

3
(3) caab

{3} abbba (4} ababa

SPACE FOR ROUGH WORK




I'_F_ Id to 31 : LMirection i

28. JDP NOR kJ ]

lll ,-"'|“'|'l| . i

29. \ [} 3 bt P | 4%

{”- _"l'-I\'al L= [ i



| !

3 " AC 5 units i
Q. 32 to 34 : Direction The bottom and the top surface of a cube, having ¢ ich side 3 units, | Pitin,

black. The opposite surfaces of the cube are red. Then the cube 1s cut into smaller cubes hay;

Faid
b

33.

=t

34.

36.

each side 1 umt, On the bass of this ir‘.lr'ﬂr'lﬂillllﬂll choose the correct alternative to dNSWer tha

qUESTIons,

_,—'-"-{T-’--F---\_\- —
- — --\_—:\1—'::-:_- _— ‘_...r"._:.
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How many cubes have at least one surface painted ?

(1) 125 (2} 116 (37 100 (4) OK.

How many cubes have only red surface ?

(1) 18 (2) 30 (3] 48 4) 60,

How many cubes have surfaces in both the colours, black and red ?

(Ly, 25 (2) 50 (3) 8 (4) 20,

If in a mathematical code language

A+4V=9 <94+p =13 D +A=11 and V+© =12 then find the value of ©®
from the following alternatives.

By -5 (2) 7 (3) 6 (4) 8.

In a certain code language if § x T =35. E x $ = 30. TxU=63and U x # = 36 then find
the value of #.

(1) © (2) 4 (3) 5§ (4) 9,

SPACE FOR ROUGH WORK
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Q. 37 and 38 : Direction In the following table the digits are assigned with certain symbols. (

|
e

them carefully and choose the correet alternative to answer the questions.

bigit |9 0|8 |1 [7 216|354 |
!.H_'-.mhul. x| &8 ‘jzl {F' N v | Q9 cﬂﬂ C{;’-_’ el J
6D

(2) R o

(4) B g

Q. 39 and 40 : Direction In the following sequence. Choose the correct term that will replace the

question mark.

¥ NOFRe ROES N, NOSHE Y N&O N V1

M BNAOSN
) BNANVNO

2) ©NO
4 SN O

40. opBps,  Pfabpd.  PBapd,  POpdet, ?

(1) POpod

(3)  PBopa

(2)  PBdup

(4)  Pepoo

/|

N
X
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nt the number i artists m dil

I‘}. 4" [“l-l_# : E'il-l'l'ti”” ||| |||,_ _||||_|._ eni ||'_'|||-\'..' ||l_‘_- |||||”|"-I_'|-“- I.L'l"IL_"ﬁ- I u
" P ! F 1 T ' Ve .: 1 .ll'l"'\-"ll- LI L UL
A Observe the diagram _.:_IL'|'.:i|'-. anil choose e correct .'I||.l..||._|l B R«
[ T N b4 ¥
Ifll.l'.-.ill:' S lr | / b H”I;I”:—
L = ",
A
| ; :..- 1 %
Y i & i 200 | \
] o 9
e
| ]
|:|||r'-\.l.I ! i :I
2 A= Aghng
41. How manv artists : ' '
| nany artists are expert i all the arts 7
(2 10 . (4) 32
3 . :
32, How many uartists are oo0d 1 acting'
[ I ! "|: i "'||I ) - N |
2) 77 3) 67 4 32
43. How many artists are good i only two arts
(3 K3 £ W o

). 44 and 45 : Direction After folding a square piece of paper it appears as shown in the question
figure. The paper w hen unfolded will look like as shown in one of the alternatives. Select the

44.

correct alternative.

Answer Figure

Question Figure
|
il

=

(1)

Answer Figure

Question Figure
[ —H = | I_L'_I
o] HEDE

(1) (2) (3) (4)
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. 46 and 47: Dir

o gL

413,

. 48 to 50 - Direction 7
IuUle ¢ .'.'];_'||,'fi_'-, ACCO

rding

ection ldentify the rule in the f
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(3)

(2) 84 (3) 98

lowing

(e SELOT EL k
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'4"_“' [ 81 ]

S0,
1 |:I
g |
y = |':' 1 I"
(1) 216 (2 f (3) Ll
S 5 - : iven balow ransparent square sha
(). 51 and 52 : Direction [n the hgure gIvern below, a transj | S
he dotted | hich | will be obtained ? Choose the correct HEUR
the dotted hines, whiicn Ngulic
allernatves [
51. Question Figure Answer Figure
T ] = . ==
| 1 . e
XIS |
1 | -
[ =] Wl = ! =y
(1) (2) (3) (4)
52. Question Figure Answer Figure
= g Ul T
| )
; 4 | II-' | | !--:-":_ r'-r _!‘_L i
e | |rj- |_rJ;> | ! |
(1) (2) (3) (4)

. 531055

i | .
ped paper 1s tolded along

JI L 1 s
from the given

= [

ley,

Direction In each of the following questions there is a specific relationship between the

first and the second term. The same relationship exists between the third and the fourth term. Find

the relation and choose the correct answer o replace the question mark.

RMS : ?

§3. KMF : LLH
(B SER (2). SLLU - (3) SSU (4) SUS.
54. ADE ¢ BFGY  » KNB3{
(1) PQR (2) PQT (3) RQP (4) TPR.
§5. 7 : ALKLO # WOULD : . TLRIA
(1) BLOCK (2] BARGE (3) CONMNES 4y DONOR
SPACE FOR ROUGH WORK



Sh.  Ihrection : [m thi

: | B et | 8 1] "i .q." i"l
fre st & 1}
F.l 25
L7 25
N ?
[ ALY

Choose the

L

= = = [ . 51 iy i 1 - ;...' : tl
Q. 58 and 59 : Direction Choose the water image from the alternatives given 10t the ques

58. Question Figure

a9, Question Figure

Z)

EYE

correct allernatve

[lowing guestion | :-;||:'.I-u: an % |
ecific rule. Identily the rule and € C
K 4] My
1 96 SX
¥ WY
(Z) Y. 4 (3) 18, 16% [

. to replace the question mark

{4) >

7} | |_1|| L =’

i

O TTE LT

Answer Figure

= --I o
| .-[-,. | ~ I u_'l
A | | | l
| o} | | s

|1:|

(1) (2) (3) (4)

. l|
(1)

Answer Fioure

— < — |
M | N | [
(2)

(3) (4)

Q. 60 and 61 ; Direction Pradyumna walked 12 km west. Then he turned right and walked 5 km
Again he turned right and walked 4 km. Finally he Again turned right and walked | | km. Then

60. At the end, which direction Pradyumna is facing ?

(1)  North

(2) Easi (3) South (4) Wes

61. At what distance is Pradyumna now from the original place ?

(1) 8 km

3
(2) 6 km (3) 12 km (4)
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b
il
Wk X \
i 1l Y
1 i I I| I
h I &} m
=B d e [ -¢
62. hab g ned - 9
[ ) el ] _ 1
' e (2) kdel (3) ldek (4)  delk.
63. bza ' Bw Bay =
~)  bni (2) bvs (31 bhm (4) bag.
Od, w sop yvgp . phtw 7
i |I | W] . 'II Y . o
f L | £ puy L) '|"|'.I"'H. [-—1} ]'l}-;l"l_

Q. 65 to 67 : Direction A, B. C, D. E and F are sitting at each corner of a hexagonal table A and

D are facing opposite direction. B is sitting to the left of D. D is sittine next to C and E
to the other side of C.

1§ S1tline

65. Who is sitting opposite to F ?
i T (2) E (3 D (4) B

66. It the persons sitting in opposite direction mterchange their places, then who will he Siting in
between D and F.

(1) E (2) A (3) B 4y C

67. If only A and D interchange their places who will be in between B and C 7

(1) A ) (3) E 4y D

SPACE FOR ROUGH WORK A
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mplete
. ire 18 1INERE
| 1 | L I"”I
). 68 and 69 : Direction i
\ er g
(s
.:' "'v.1
| o 1 ‘ %
1 | e
| ; L N
" Ty {11
A1 r F1oure
- 1 K7 N KR
| X DX
. | ¥
1
k ) | _J IT __.: :-a _-ul
||I I_-'l -'|| |_]|
(). 70 and 71 : Direction Ten years ago the ratio of ages of Sunil and Anil was 1 : 7. Ten years hence
ages will be | 2. Then
/0. Find Su S present age
1 4 armar: 3 —i” y oy 3 _"I et g 1" T
(1) 14 years (2) Vears (3) 70 years (4) 28 years.

/1. What was Anil's age ten years before ?

(1) 4 years (2) 28Byears (3) 24 years (4) 32 years.

Q. 72 and 73 : Direction In a queue, Amruta is at the 11th place from front. Suneeta is at 26th place
trom behind. Sapna 1s at the central place between Amruta and Suneeta. If there are 60) Persons

in the queue, then

%
72. At which place Sapna is standing from the front @

(1) 12 (2) 24 3 23
P 43 4) 26
73. At which place Sapna 1s standing from behind ?

(1) 31 c (2Y 38 (2} 27
2) | 23 (4) 39

SPACE FOR ROUGH WORK _-_-'-_.1




re civen 1n specili

jestion figures €

tions e s slace the question mark

L), 7 .
} and Direction In each of the tollowing g ] vill re
_ apres thdl W
: ek | orrect alternat {roum L ver IS
: | |
. ||
- & -
b
L L] | | A
ey, | -
|
W |
| |
! [ 4] |y
= .[ I
- — — =
. Os |I g
] dL ; : |
H'I [ "| L |
n |m | sl
| LT
N T [ § _. = T
| [ | | '
| |
¥ s [. = 5
A | | m 3
(1) (2) (3) (4)

Q. 76 and 77 : Direction In the followi 'l :
® . ; Ing L!HL"\““” I everv row |_||L'- J_'|_L”'|1‘]'1 g g
& : €rs outside the bracket and
el 10

76,

inside the bracket are related to each other in a specific manner From the given alt -
| _ S | | ' g alternative
choose the correct alternative that will replace the question mark. ;

17 (68) 28
1l (22) 14

_ ] . e
(1) 56 (2) 105 (3) 147 (4). 63

(1) 1l £2) 10 (3) 9 (4) &

SPACE FOR ROUGH WORK —-—-—-_.1




[_‘} ':f!-. l‘l :"1'-” - I}ir""‘lii':lll |.. B || |l| the

I||_' :_- ViEen _'|."|.||-

1
O MO T ] LEA

78. AUEFG EOVWYX IAPOQR

(1Y OQRS (2) Ik St
I, ERAN WUESQ TRUPN

(1) VTRPN {2y JHFDB L
80. BYMN DWIZ GTKP

(1) AZF\ (2) CXHS (3)

' i 3 - . -
tJ' h‘l I‘-I ﬁ-.,‘l . E}ll'l.lnll'lll TllL- I'u"ulll'l_'i l'||_: I |"||. I: 1% 'l,",l.l-l-\-‘“ 113 ||||.|| )
- 2 £ (Tl : [ 11 L&l
the code find out the correct cowde |J1:?ljﬂ:.u for Lhe kk‘1|L|h |

AETIVE =

81. GOLDEN

82. ORANGLE

(1) CEVKXG
(2} EFVKY]
(3) XZQFSB
(4) CFXNEI

= KRNFHR

= LOXKDB

83. PURPLE = RWTRNG

'E]' 34 I'll[l 35 - I'.Iirm:[inn In the grven Lilu_'almla H I el -I'.|]'|;'~. |L_!‘llll_' 15
oiven in the alternatives 1s hidden n the complex figure

[ =8
[ =

84. Question F

jgure

Answer Figure

- Tl
1/ :
>
-
1 | { %)

YK EF
| JOHI

|
HSOX |

e [an@uages
lifferent de |

. Tib
.t thie 1
o of the

L
(4)
“HHh_“____' —

mven. Find out which ol

T

I_I|

H'_“.‘
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. 86 and g~
g 87 - Fee it
- ””‘.Lflllli liv il Tyl "ol 1 1 and are
. I CIWINE questions numbers are siven in Coluni |
L Il 12 £ | | i~ - . .
s il -y " . =i | |||--
I'TE | I i didmnty el LHErE .II.|.-!!.|'.I" (R |=|'- Order of dizts In I'lll" ILMDE ] A ’
i EL; E I | i . . L
d : I5E The camect allernative to answer the -.|'I"-|:'-I 1%
TLTIN | | i
= - = Urmin ||
| ——
——— e o
I_ R i ——
f | —
| =
= I — e
— | - |
T e e
| P
| [ :
e 8 X { 1
) II e _-:___ =
1
Hﬁ. Il."-ll, | Il 1
L f|||||-_'_|| Nnumbes 1 || b : - 5
: OCIEed s | s j

. i &) _'l_:lﬁ.n (45 —-I;'.l—l
87. Whic ) : .
hich of the tollowing code will be used 1o indicate the number 9135 7
O OO A o e Gl S
= =/ k_:J '-x_-:__.-

7, "-"'_'\l |'-_ o [t "'_i_,:
4 OO
F I T P,

[ 3) 'x_,’] .:_'H_:'I "-._"_a-'l )

} - O i o I 1

t—‘[ |I I'\,\_'_.-':I L..-‘l I'x‘i_.-"l | : -j

%,
s

Q. 88 Direction : Observe the following code and answer the questions that follow

D N R g
Digits — 9 8 7 f 5 4 3 -

Letters— A £l M G ()

88. Choose the correct code from the following alternatives for the word DONAR'
(1) 4839] (2) 54872 (3) 453972 (4) 5397

SPACE FOR ROUGH WORK =
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alternative

L BY to 9 - : : 1 the
. 02 Direction Choose the correct mirror image 1rom

g ure

oY (e
[ " -H_l L .|||_||| | I_:.”l'\. I'I||'|'\-..'I,'-,|_"| I_I:I.III.I:.

e ‘ : o= ) 1 E g | [_1;_;'_._—|

A | ol | | x| | X<

| ) ) | { = N Pl o 3P

' o 1| i a2z =8
(1) |"'| [ &) I-II

). Luestie 1 1
! LLay I LI "'|]'|"1-1|1 ] |-a||l-|.]! i

_Fi: H'*‘l L’ | ]FT‘

(1) (2) () i4)
1. In a mathematical code languace
! : 0k ' 3 ™
Qi = 31 7T -6 41, 99 _ 5= 74 then 55 -4 =1
= | &
(1) 31 (2y 30 24 (3} 49 (4) 34
92. In a mathematical code language
R+ 6=42 7T4+5=30, 9+3=24 then6 +4 =
(£)y 27 (2} 20 (3y 22 (4) 24.

(). 93 to 95 : Direction The following figure 1s made by arranging some cubes having each side |
unit. The figure 1s painted from all the outside surfaces Observe the figure and choose the correct
alternative to answer the questions.

|1
"--\.\_\_\_ _.,-""F-F.
"--\._\__h -\-""-.._\___.'-'-" ]
e =
__F,_P"
.., Hﬁq____._ﬁ_w"' o
qu‘-ﬂ-n____ f___ﬂ—-
e | P
93. Maximum how many faces of a cube are painted ?
25 (2)-3 (3) 4 (4) 2.
94. How manv cubes have at least two faces coloured ?
(1) 12 (2) 20 (3) 2 (4) 48

SPACE FOR ROUGH WORK




' =~ ]
S, H many cubes have only one face painted
<l
[ 1) #] iy T (1) [
| 1%
- - : PR— TR |
. Y6 and 97 : Direction A square picce of paper is folded and cut al Speciiit )
1 { o
| i 1 v i L LM |
fgure, The paper when unfolded will look like as one ol the alternative give

.I||-.'I il ve

26.  Question Figure Answer Flgure
' s | B N
I I 1 | | ¢
| i ! v - ]
| [ | | “ ‘ : | ; |
I C | ] s L
! ! . | i e :.|4__ ]
(1 (2) (3] )
s
/. Luestion Figure Answer Fieure
e = I | = e : o _ |
| J & B o R ' R g | o o |
| 7] I _— -. L - e o
| v B | (oo ..= o 0 o b i & i | '_| L.
| N 2 3 © o @ 3 O 2 @
— . L -4 | ' | == ) 2 |
1 I|’ |_| |:|| I_I,

Q. 98 to 100 : Direction Observe the following pyramid and choose the correct alternative 1o answer

the 1[!I;,"m‘j-1.‘|x

._\_I

58 9 10
15 14 13 12 11
16 17 18 19 20 2]
28 27 260 25 24 23 2
20, 30 31 32 FB 34 35 36
45 44 43 42 41 40 39 38 37

OB. 1352 . ; 13192518 9 29138 %
(1) 25334132 (2) 25324133 (3) 25413332 (4) 3325324|

99. 163044 : 213538 1 113143 ¢
(1) 393420 (2) 203439 (3) 183241 (4) 203440

100. 281627 = 222123 & 297830 i

(1) 352236 (2) 353622 (3) 362235 (4) 363522
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